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Name: Timing: 40 Minutes
Date:
1 i 1_7.’_..4_2 =
a5 48 7
(A) % (a)% (C)g (D);—; (E) None of these
25—42
62—28
(A) 27 (8)2 (©5 ()12 (E) None of these

3. 30% of? =54

(A) 160 (B) 145 (C)170 (D) 180 (E) None of these
4.3x4+18+6-10=?

(A)J4 (B)5 (C)7 (D)6 (E)None of these

5. 2 =10

(A)6 (B)4 (C)8 (D)9 (E)None of these

6. 950-237 =? - 187

(A) 850 (B)760 (C)980 (D)870 (E) None of these
7. 425+363-7=536

(A) 230 (B) 232 (C) 240 (D) 252 (E) None of these

8. 256+7=8

(A) 16 (é) 24 (C)32 (D)36 (E)None of these.

36+16X36+9
= =

9. ?
(A)40 (B)50 (C)80 (D) 100 (E) None of these
it e

(A)48  (B)56 (C)60 (D) 68 (E) None of these
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11. 162.5+320.8=420.6+7

(A) 60.7 (B)48.9 (C)62.7 (D) 74.6 (E) None of these

12. 48 +3x5=7

(A) 85 (B)68 (C)80 (D)48 (E)None of these

13. 12.54+2144 -34.87 =?

(A)10.31 (B)11.11 (C)10.63  (D)10.11 (E) None of these
14. 52% of? =182

(A)354  (B)350 (C)360 (D)380 (E) None of these

15. =3

324-225 _
bl

(A)27 (B)66 (C)45 (D)33 (E) None of these
16. 468+4x5-285="°
(A)200  (B)300 (C)400 (D)450 (E)None of these

17. If a sum of Rs. 736 is equally divided among twenty three people, Then how much amount will each

person get?

(A)30 (B) 32 (C)42 (D) 46 (E) None of these
- 18 If the cost of 28 pens is Rs.420 then what is the cost of 20pens?
(A) 260 (B)280 (C) 300 (D) 320 (E) None of these

19. Jyoti had 620 toffees, out of which she gave 220 toffees to Disha, And 130 toffees to jasmine, how

many toffees were remaining with Jyoti?
(A) 250 (B) 280 (C) 260 (D) 290 (E) None of these

20. The profit made on selling an item of cost price of Rs. 1,650 is Rs.210. What is the selling price of that

item?
(A) 1820 (B) 1860 (C) 1760 (D) 1920 (E) None of these

21. Ajit has Rs. 26 more than Anuj. Anuj has Rs. 60 more than Ravi. If all of the three together have total
of Rs. 200, then how much amount does Ajit have?
(A)78 (B)68(C) 104 (D)106 (E)None of these.
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22.In a test, a candidate got 381marks less than the minimum passing marks. If the minimum#* passing

marks are 230, then how much marks did the candidate get?
(A)200 (B)198 (C)192(D)182 (E)None of these

23. What should come in place of question mark (?) the following number series?
7912162127 (?)

(A)29 (B)33 (C)36 (D)34 (E)None of these

24.256128643216 (?)

(A)6 (B)5 (C)3 (D)2 (E)None of these

25. What is the average of the following set of numbers?
112,102,133,116 and 127
(A) 108 (B) 118 (C) 128 (D) 110 (E) None of these.

English Language

26. What caused the old couple's sudden longing for laddoos?

(A) They hadn't eaten good food for several days

(B) They had attended their neighbor’s party and enjoyed the laddoos served
(C) They saw the mouth watering laddoos being served to guests at the party
(D) They had tasted the laddoos prepared for their neighbor’s son's birthday
(E) They thought that the laddoos would satisfy their hunger for days to come

27. Why did the old couple cook in the woods?

(A) It was very convenient to gather firewood

(B) To avoid the risk of their hut burning down

(C) To keep the fact that they were preparing laddoos a secret from their neighbors

(D) To hide the fact that they did not know how to prepare laddoos from their neighbors
(E) They did not have the ingredients to make enough laddoos for their neighbors as well

28. Which of the following can be said about the old couple?

(A) They did not have any relatives to look after them in their old age

(B) They were misers and did not spend even on keeping their house in good condition
(C) They were not allowed to eat sweets as they were old

(D) They were fond of animals and sometimes shared their food with stray animals

(E) They were afraid of the villagers and hid from them
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29. Which of the following is/are true in the context of the passage?

(A) The old woman had prepared more laddoos than she had intended.

(B) The family who had recently moved into the village was fond of the old couple.

(C) The villagers were saddened by the death of the old couple and gave them a grand funeral.
(A) Only A (B) Only B and C (C) Only A and B (D) All A, B and C (E) None of these

30. Why did the neighbor peep into the old couple's house?

(A) To learn what they were being so secretive about

(B) To spy on them and discover where their wealth was hidden
(C) To complain as they had cooked in the forest

(D) To check up on the old couple as he did everyday

(E) Not clearly mentioned in the passage

Passage (Direction 26 — 30)

Read the following passage carefully and answer the questions given below it. Certain words have
been printed in bold to help you locate them while answering some of the questions.

In a village in the East, there lived an old couple. They did not have any children and never spent an
Extra paisa on themselves. They never repaired their house or cooked good food. One day, a family
moved into the village. It was their son's second birthday and they sent two delicious laddoos to the

Bid couple. The couple ate the laddoos with great relish. For days after they could talk of nothing else.
Finally the old man could take it no more. He said to his wife, "Let's buy the ingredients to make just two
laddoos." His wife agreed but said, "If | make the laddoos at home, the neighbours will know and will
want a share. Let's cook in the woods behind our hut. That way no one will ever know."The next day the
old man purchased the ingredients from the market and they set off to the woods. Having never pre-
pared food like this before, they ended up with three laddoos instead of two. The old couple returned
home with the sweets, dying to eat them. But there was a

Problem. "It was my idea and | went to the market, so | ought to get two," said the old man. But his wife
refused to give in so easily and said, "Since | prepared the sweets, | ought to have two. "The day wore on
and the argument continued. At last, the old man suggested, "Let us not talk to each other. Whoever
breaks the silence first will get one laddoo and the other person two." His wife agreed. Hours passed,
but neither of them spoke and finally they fell asleep with the bowl of sweets between them. That even-
ing one of the neighbors knocked on the door but the couple did not answer for fear of losing the bet.
Peering through the window, the man saw the couple lying on the floor with an untouched bowl of food.
"They are dead!" He shouted and alerted the other villagers. Soon the door was broken down and the
house was swarming with villagers. They discussed everything from the funeral to where the couple had
hidden their wealth. But the couple lay still. Finally, the villagers carried them to the cremation ground.
As the flames licked his feet, the old man jumped up screaming "You win " His wife jumped up too,
happy

that she had won. The two then rushed home leaving the bewildered villagers present there behind. But
when they got home.... Alas the door had been left open and they found a stray dog licking the last

crumbs of the sweets from the bowl.
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Passage (Directions 31-35)
Read each sentence to find out whether there is any grammatical mistake error in it.The error, if any,
will be in one part of the sentence. Mark the number of the answer. If there is no error, mark '5'

31. (A) The main advantage of (B) investing such schemes (C) is that you will not (D) have to pay any tax-
es (E) No error.

32. (A) That customer has (B) written a letter (C) thanks the manager (D) for her timely help. (E). No er-
ror ]

-33. (A) Our company was recently (B) award the contract (C) to construct two major
(D) Bridges in the state. (E). No error

34. (A) Accordingly the circular (B ) that was issued yesterday RBI (C) has raised the rate at. (D) which it
Lends to banks. (E) No error

35. (A) Their company is going to incur (B) Heavy losses this year because (C)Of the big discounts they
(D) offers to customers.(E) No error

Passage (Directions 36-40):

In each question below a sentence with four words printed in bold type is given. These are numbered as
(1), (2), (3) and (4). One of these four words printed in bold may be either wrongly spelt or
Inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
Inappropriate, if any. The number of that word is your answer. If all the words printed in bold

Are correctly spelt and also appropriate in the context of the sentence, mark (5) i.e. 'All correct' as your

answer.

36. (A) He found (B) the company in 1980 to provide (C) electricity to people living
(D) In rural areas. (E)All correct

37. (A) Salaries (B) of bank employees (C) Are likely (D) to go above By ten per cent.(E)All correct

38.(A) The Chairman has promised (B) To look (C) into the matter (D) And take necessary (E) action. All
correct :

39. (A)Since (B) the interest rate on bank deposits is low (C) at present, people prefer
(D) To deposit their savings (E) in post office schemes. All correct

40.(A)Most (B) projects are delayed (C) Because of the absents (D) or proper planning (E) All correct
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Passage (Directions 41-50)

In the following passage there are blanks, each of which has been numbered. These numbers are print-
ed below the passage and against each, five words are suggested, one of which fits the blank appropri-
ately. Find out the appropriate word in each case.

A rich merchant owned a beautiful horse. Now, one of his neighbours was keen to

(41 this horse. He offered the merchant gold, (42) the merchant refused. This angered the

Neighbor. He (43) to trick the merchant. He disguised himself (44) a beggar and lay down at the

(45) Of the road, that the merchant used everyday. (46) at the sad plight of the beggar, he

(47) From his horse and gently lifted the beggar (48) his horse. No sooner did the beggar get into the
(49) Than he galloped away. But hearing the merchant (50) out to him, he stopped when he was a safe
distance away. "Please don't tell anyone how you came to possess this horse. Some day an ill man may
be lying by the roadside and people who have heard about your trick may not want to help, "said

The merchant. The merchant's neighbor was deeply ashamed, rode back and returned the horse to the

merchant.
41. (A) Sell (B) Buy (C) Steal (D) Free (E) Train

42, (A) Since  (B) So (C) Unless (D) Otherwise (E) But

43. (A) Deceived (B) Desires (C) Decided (D) Declined (E) Deliberately
44, (A) Similar (B) Being (C) Alike (D) as (E) identical
45. (A) side (B) middle  (C) gutter (D) ending (E) distance

46. (A) Unhappily  (B) Carefully. (C) Distressed (D) Misery (E) Upsetting

47. (A) climbed (B) .opened (C) jump (D) dismounted (E) Non of these
48. (A) onto  (B) with - (C) above (D) from (E) off

49. (A) way (B) saddle (C)arms (D) horse (E) danger

50. {A) Beg (B) appeal (C) shouted (D) caII' (E) cried,




